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5) H|$Ð-amÁ` g§~§Y, amÁ¶ {Z{‘©Vr
1) ^maVmVrb g§KamÁ¶ ì¶dñWm
2) H|$Ð-amÁ¶ d¡Ym{ZH$ g§~§Y
3) H|$Ð-amÁ¶ àemgH$s¶ g§~§Y
4) H|$Ð-amÁ¶ Am{W©H$ g§~§Y
5) {d^mJr¶ n[afX d Am§Va-amÁ¶ n[afX
6) H|$Ð-amÁ¶ g§~§Ym~m~VMo Am¶moJ

1) ^maVmVrb g§KamÁ¶ ì¶dñWm

1) OmoS>çm bmdm (g§K nÕVrMo ñdê$n).
'A' ({dMmad§V)           '~' (H$WZ)
A) Ho$. gr. ìhr¶a i) AË¶§V gm§{KH$
~) ‘m°arg OmoÝg ii) ghH$mar g§KamÁ¶dmX
H$) nm°b A°nb~r iii) gm¡Xo~mOrMm g§KamÁ¶dmX
S>) J«°Z{db Am°pñQ>Z iv) AY© gm§{KH$
n¶m©¶r CÎmao …
1) A - ii, ~ - iii, H$ - iv, S> - i 2) A - iii, ~ - iv, H$ - i, S> - ii
3) A - iv, ~ - iii, H$ - ii, S> - i 4) A - iv, ~ - iii, H$ - i, S> - ii

1) Match the pairs (Nature of Federal System).

‘A’ (Thinker) ‘B’ (Statement)

A) K.C. Wheare i) Extremely Federal

B) Morris Jones ii) Co-operative Federalism

C) Paul Appleby iii) Bargaining Federalism

D) Granville Austin iv) Quasi Federal

Answer options :

1) A—ii, B—iii, C—iv, D—i 2) A—iii, B—iv, C—i, D—ii

3) A—iv, B—iii, C—ii, D—i 4) A—iv, B—iii, C—i, D—ii

2) ^maVr¶ g§KamÁ¶mMo ñdén nwT>rc ñdê$nmMo Amho.
Imcrc n¡H$s ¶mo½¶ n¶m©¶ {ZdS>m.
a) H|$Ð d amÁ¶ ¶m§À¶mgmR>r EH$M g§{dYmZ b) ^maVr¶ KQ>ZoZwgma EHo$ar ZmJ[aH$Ëd
c) EH$mË‘ Ý¶m¶ì¶dñWm d) amÁ¶m§Zm A{YH$ma Zmhr
n¶m©¶r CÎmao :
1) ’$º$ (a),(b),(c) ¶mo½¶ {dYmZ AmhoV. 2) ’$º$ (b),(c) ¶mo½¶ {dYmZ AmhoV.
3) ’$º$ (a) ¶mo½¶ {dYmZ Amho 4) EH$hr {dYmZ ¶mo½¶ Zmhr

2) The structure of Indian Union is as follows.

Choose the correct option from the following.

a) One Constitution for Center and State b) Single Citizenship as per Indian Constitution

c) Integrated Judiciary d) States have no authority

Answer options :

1) Only (a), (b), (c) are correct statements. 2) Only (b),(c) are correct statements.

3) Only (a) is correct statement 4) None of the statements is correct



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ZmJ[aH$emó / 44

3) Imcrcn¡H$s H$moUVr ^maVr¶ g§{dYmZmMr EH$mË‘H$ d¡{eîQ>ço AmhoV ?
A) ñdV§Ì Ý¶m¶nm{cH$m ~) gÎmoMo {d^mOZ H$) EH$mË‘H$ Ý¶m¶nm{cH$m
S>) g§{dYmZmMr cd{MH$Vm B) amÁ¶ à{V{Z{YËdm‘Ü¶o g‘mZVm Zmhr
n¶m©¶r CÎmao :
1) ’$º$ A, S>, H$ 2) ’$º$ ~, S>, B 3) ’$º$ H$, S>, B 4) ’$º$ A, ~, H$

3) Which of the following features are unitary features of Indian Constitution?

A) Independent Judiciary B) Division of Powers

C) Integrated Judiciary D) Flexibility of the Constitution

E) No equality of State representation

Answer Options :

1) Only A, D, C 2) Only B, D, E 3) Only C, D, E 4) Only A, B, C

2) H|$Ð-amÁ¶ d¡Ym{ZH$ g§~§Y

1) ^maVr` amÁ`KQ>ZoZwgma g§gXoZo Am{U amÁ`mÀ`m {dYmZ‘§S>imZo ~Zdboë`m H$m`Úm§Mo {df` `m‘Ü ò {Xbo AmhoV:
1) {Vgar AZwgyMr 2) gmVdr AZwgyMr 3) AmR>dr AZwgyMr 4) Zddr AZwgyMr

1) Under Constitution of India subject matter of laws made by Parliament and by the Legislature of

State are enumerated in :

1) Third Schedule 2) Seventh Schedule 3) Eightth Schedule 4) Ninth Schedule

2) H|$Ð-amÁ¶ H$m¶Xo{df¶H$ g§~§Ym~m~V OmoS>çm cmdm.
AZwÀN>oX VaVyX
A) 247 i) AmUr~mUrMr KmofUm cmJy Agë¶mg amÁ¶ gyMr‘Yrc {df¶m§~m~V H$m¶Xo H$aÊ¶mMm A{YH$ma
~) 248 ii) H$m¶Xo{df¶H$ Cd©[aV A{YH$ma
H$) 249 iii) H$mhr A{V[aº$ Ý¶m¶mc¶o ñWmnZ H$Ê¶m{df¶r g§gXoMm A{YH$ma
S>) 250 iv) amï´>r¶ {hVmÀ¶m Ñï>rZo amÁ¶ gyMr‘Yrc {df¶m§~m~V H$m¶Xo H$aÊ¶mMm g§gXoMm A{YH$ma
n¶m©¶r CÎmao :

A ~ H$ S>
1) i ii iii iv

2) ii iii iv i

3) iii ii iv i

4) iv i ii iii

2) Match the pairs regarding Center - State Legislative Relations.

Article                                     Provision

a) 247 i) Power of Parliament to legislate with respect to any matter in the

State list if a proclamation of emergency is in operation

b) 248 ii) Residuary powers of legislation

c) 249 iii)Power of Parliament to provide for the establishment of certain

additional courts.

d) 250 iv) Power of Parliament to legislate with respect to a matter in the State

list in the national interest
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Answer Options :

a b c d

1) i ii iii iv

2) ii iii iv i

3) iii ii iv i

4) iv i ii iii

3) Ooìhm XmoZ qH$dm A{YH$ amÁ¶m§Mo {d{Y‘§S>io amÁ¶ gyMrVrc EImÚm {df¶mda g§gXocm H$m¶Xo H$aÊ¶mMr {dZ§Vr
H$aUmam R>amd g§‘V H$aVmV, Voìhm g§gX Ë¶m {df¶mda {Z¶‘Z H$aÊ¶mgmR>r H$m¶Xo H$é eH$Vo. Imcrcn¡H$s
H$moUVm H$m¶Xm ^maVr¶ g§{dYmZmÀ¶m darc VaVwXrer g§~§{YV Zmhr ?
1) ~{jg ñnYm© A{Y{Z¶‘, 1955   2) dÝ¶Ord (g§ajU) H$m¶Xm, 1972
3) Oc (g§ajU d àXÿfU {Z¶§ÌU) H$m¶Xm, 1974  4) darcn¡H$s Zmhr

3) When the legislatures of two or more States pass resolutions requesting the Parliament to enact

laws on a matter in the State list, then the Parliament can make laws for regulating that matter.

Which of the following laws is not related to above pravission of Constitution of India?

1) Prize Competition Act, 1955

2) Wildlife (Protection) Act, 1972

3) Water (Prevention and Control of Pollution) Act, 1974

4) None of the above

4) Imbrbn¡H$s H$moUVr g§gX Am{U amÁ¶ {dYr‘§S>i ¶m XmoÝht‘Ü¶o g‘mZ à{H«$¶m Zmhr?
A) EImXo {dYo¶H$ (AW© {dYo¶H$ Zmhr) H$moUË¶mhr g^mJ¥hmV nmg Ho$bo OmVo.
~) AW© {dYo¶H$ ’$º$ H${Zð> g^mJ¥hmV (bmoH$g^m Am{U {dYmZg^m) àW‘V… gmXa Ho$bo OmVo.
H$) gm‘mÝ¶ {dYo¶H$ H$moUVmhr ‘§Ìr AWdm ImOJr gXñ¶mÛmao gmXa Ho$bo OmD$ eH$Vo.
S>) gm‘mÝ¶ {dYo¶H$mdê$Z g^mJ¥hm‘Yrb J{VamoYmÀ¶m Q>ßß¶mda XmoÝhr g^mJ¥hm§Mr g§¶wº$ ~¡R>H$ hmoD$ eH$Vo.
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) ’$º$ H$ Am{U S> 4) ’$º$ S>

4) Which of the following does not have the same procedure in both Parliament and State Legislatures?

a) A bill (not a money bill) is passed in either house.

b) Finance Bill is first introduced only in the Lower House (Lok Sabha and Vidhan Sabha).

c) An ordinary Bill may be introduced by any Minister or Private Member.

d) Joint sitting of both the Houses can be held at the stage of deadlock in the House on a common

bill.

Answer options :

1) A only 2) B only 3) C and D only 4) D only

3) H|$Ð-amÁ¶ àemgH$s¶ g§~§Y

1) H|$Ð gaH$ma d amÁ¶ gaH$ma ¶m§À¶mV dmX gmoS>{dUo Imbrbn¡H$s H$moUmÀ¶m A{YH$ma joÌmV ¶oVo?
1) Am§Va-amÁ¶ n[afX
2) ^maVmÀ¶m amÁ¶KQ>ZoVrb AZwÀN>oX 226 Zwgma Cƒ Ý¶m¶mb¶
3) ^maVmÀ¶m amÁ¶KQ>ZoVrb AZwÀN>oX 143 Zwgma gdm}ƒ Ý¶m¶mb¶
4) ^maVmÀ¶m amÁ¶KQ>ZoVrb AZwÀN>oX 131 Zwgma gdm}ƒ Ý¶m¶mb¶
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1) Resolving disputes between the Central Government and the State Government falls within the

jurisdiction of which of the following?

1) Inter-State Council

2) High Court under Article 226 of the Constitution of India

3) Supreme Court under Article 143 of the Constitution of India

4) Supreme Court under Article 131 of the Constitution of India

2) Imbrbn¡H$s H$m¶ ^maVmÀ¶m g‘dVu ¶mXrV g‘m{dï> ZìhVo?
1) dZo 2) {XdmiImoar Am{U ZmXmar
3) H¥$fr CËnÞmdarb H$a 4) H$maImZo

2) Which of the following was NOT included in the concurrent list of India?

1) Forests 2) Bankruptcy and Insolvency

3) Taxes on agricultural income 4) Factories

4) H|$Ð-amÁ¶ Am{W©H$ g§~§Y

1) OmoS>çm cmdm (H|$Ð - amÁ¶ g§~§Y)
"A' (AZwÀN>oX) "~'  ({df¶ dñVw)
A) AZwÀN>oX 280 i) ~MV
~) AZwÀN>oX 277 ii) {dÎmr¶ Am¶moJ
H$) AZwÀN>oX 275 iii) dñVw d godm H$a n[afX
S>) AZwÀN>oX 279 E iv) H$mhr amÁ¶m§Zm H|$ÐmH$Sy>Z AZwXmZ
n¶m©¶r CÎmao :

A ~ H$ S>
1) iv ii i iii

2) iv i iii ii

3) ii iii i iv

4) ii i iv iii

1) Match the pairs (Centre - State Relation)

'A' (Article) 'B' (Subject Matter)

A) Article 280 i) Savings

B) Article 277 ii) Finance Commission

C) Article 275 iii) Goods and Service Tax Council

D) Article 279 A iv) Grants from the Union to Certain State

Answer Options :

A B C D

1) iv ii i iii

2) iv i iii ii

3) ii iii i iv

4) ii i iv iii
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2) Imbrb {dYmZo {dMmamV ¿¶m …
A) KQ>ZoMo AZwÀN>oX 275 Am{U 282 ghm¶-AZwXmZmÀ¶m àíZm§er g§~§{YV AmhoV.
~) AZwÀN>oX 275 A§VJ©V AZwXmZ H$moUË¶mhr gmd©O{ZH$ CÔoemgmR>r amÁ¶m§Zm {Xbo OmVo.
H$) AZwÀN>oX 282 A§VJ©V AZwXmZ amÁ¶m§Zm 'ghmæ¶mMr JaO'' ‘Ü¶o {Xbo OmVo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) XmoÝhr A Am{U H$ ¶mo½¶ AmhoV. 2) Ho$di A ¶mo½¶ Amho
3) Ho$di H$ ¶mo½¶ Amho 4) darbn¡H$s gd©

2) Consider the following statements :

a. Articles 275 and 282 of the Constitution deal with the question of grants-in-aid.

b. Grants under Article 275 are given to the states for any public purpose.

c. Grants under Article 282 are given to the states in “need of assistance”.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Both a and c are correct 2) Only a is correct

3) Only cis correct 4) All of the above

3) "Am{W©H$ {Z¶moOZ" hr ~m~ ^maVr¶ amÁ¶KQ>ZoÀ¶m ............. ‘Ü¶o g‘m{dï> Amho.
1) H|$Ð gyMr 2) amÁ¶ gyMr 3) g‘dVr© gyMr 4) ¶mn¡H$s Zmhr

3) 'Economic Planning' lies in the ...... of the Indian Constitution.

1) Union list 2) State list 3) Concurrent list 4) None of these

5) {d^mJr¶ n[afX d Am§Va-amÁ¶ n[afX

1) ñdV§Ì {dH$mg ‘§S>io ñWmnZ H$aÊ¶mMr O~m~Xmar amÁ¶nmbmMr AgVo. Imbrbn¡H$s H$moUVr amÁ¶o ¶mÀ¶mer g§~§{YV
AmhoV?
A) ‘hmamï´> ~) JwOamV H$) H$Zm©Q>H$ S>) Vm{‘iZmSy>
n¶m©¶r CÎmao …
1) ’$º$ A, ~, H$ 2) ’$º$ ~, H$, S> 3) ’$º$ A, ~, S> 4) darbn¡H$s gd©

1) The Governor has responsibility to establish separate Development Boards.

Which of the following States are related with it ?

A) Maharashtra B) Gujarat C) Karnataka D) Tamil Nadu

Answer options :

1) Only A, B, C 2) Only B, C, D 3) Only A, B, D 4) All of the above

6) H|$Ð-amÁ¶ g§~§Ym~m~VMo Am¶moJ

1) ñWmnZm dfm©À¶m MT>Ë¶m H«$‘mZo Imbrb KQ>H$ amÁ¶m§Mr ‘m§S>Ur H$am.
A) {h‘mMb àXoe ~) ZmJmb±S> H$) Amo{S>gm S>) AéUmMb àXoe
n¶m©¶r CÎmao …
1) A, ~, H$, S> 2) H$, ~, A, S> 3) ~, A, S>, H$ 4) S>, A, ~, H$
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1) Arrange the following States in ascending order of their year of establishment.

A) Himachal Pradesh B) Nagaland C) Odisha D) Arunachal Pradesh

Answer options :

1) A, B, C, D 2) C, B, A, D 3) B, A, D, C 4) D, A, B, C

CÎmao : (5) H|$Ð-amÁ` g§~§Y, amÁ¶ {Z{‘©Vr

1) ^maVmVrb g§KamÁ¶ ì¶dñWm

1-4 2-1 3-3

2) H|$Ð-amÁ¶ d¡Ym{ZH$ g§~§Y

1-2 2-3 3-4 4-4

3) H|$Ð-amÁ¶ àemgH$s¶ g§~§Y

1-4 2-3

4) H|$Ð-amÁ¶ Am{W©H$ g§~§Y

1-4 2-2 3-3

5) {d^mJr¶ n[afX d Am§Va-amÁ¶ n[afX

1-1

6) H|$Ð-amÁ¶ g§~§Ym~m~VMo Am¶moJ

1-2


